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(i) cosec 6 (ii) cot © (iii) tan 6 (iv) 1 (v) sec ©

(1 +sinB)(1 —sinB)
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. If cotB = §,find
(1 —cosB)(1 + cosH)

(i) -4 (ii) -2 (iii) -2 (iv) -4 (V) -4
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. If tanB = -4,find -
(1 +sin®)(1 —sinBb)
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(1 +sinB) (cosB)
. Find the value of +
(cos®) (1 +sinB)

(i) 2sec® (ii) 2sin® (iii) 2cos® (iv) 2cosecH

2 2
. Find the value of 8sec 6 — 8tan ©

(i) 11 (ii) O (iii) 8 (iv) 1 (v) 5

. Find the value of (1 + tan® + secH)(1 + cot® — cosecH)

(iy 4 (i) (-1) (i) 3 (iv) 2 (v) 1



9. Find the value of (cosec6 — cot6

)2

1+ sin® 1 — cos® 1 —sin®
(i) (ii) (iii) (iv)
1 —sin® 1 + cosO 1+ sinB
10. Which of the following are true?
a) .
1+ sinB
(secB® — tane)2 =
1 —sin®
cos6 cos6
+ - = 2
1 —sin® 1 + sin®
1+ sin® cos6
+ - = 2secH
cosO 1 + sin®
cos6 cos6
+ = 2tan®
cosecH + 1 cosecH — 1
e) .
1 —sin®
(secB® — tane)2 =
1 + sin®
(i) {a,c,d} (i) {a,c} (iii)) {b,d} (iv)
11. Which of the following are true?
cos6 1 —sinB
1 + sin® cosO
b) 2 . 2
(sin®@ + cos®)™ + (sin® —cosB)™ = 2
c) 3 .3 . .
cos 6 —sin B = (sin® + cosB)(1 — sinBcosO)
d) 3 .3 . .
cos 6 +sin B8 = (sin® + cosB)(1 — sinBcosO)
e)
secO 1 — cosecb6
1 + cosecH secO
f) . 2 .
(sin® —cosB®)” = 1 + sin26
(sin® + cose)2 = 1+ sin26

(i) {eb} (i) {fcd} (i) {eg,a} (iv) {ab,dg} (v) {ca}

1 + cos©O

1 — cosHO

{c,d,e} (v) {a,b,e}



R+S
12. IfR,S and Tare the interior angles of a triangle, then sin( 5 ) =

(i) si (T) (i) (T) (iii) (R) (iv) sinT (v) si (R)
D sin(5) (i) cos(5) (i) cos(5) (iv) sinT (v) sin(3

13. If y=c0s6 + sinB,z=co0s6sinBO then

(i) (2=Z2) =1 (i) ()2+22) =0 (iii) y2 = (2z+1) (iv) (J2+2%) =1 (v) y2 = (-22+1)

14. If g=cosB + sinB,r=cos6 — sin6 then

(i) (g2+7%) =0 (i) (¢g°=r%) =2 (i) (¢°+2) =1 (iv) (¢°=r2) =1 (v) (¢°+2) =2

15.

b) (u+v)2=f2

A (2-\2) = R
d) (u2+v2) = £
€ 2uv=~ sin20

(i) {b,a} (i) {b,c,e} (i) {ad,e} (iv) {cd} (v) {b,ad}

16. If g=wcosO + xsin® and A= wsin® — xcos6, then

() (W2 +g2) = (X2+h%) (ii) gh = wx (i) (g2=h%) = (W2=x2) (iv) (g%2+h?) = (W2 +x?)
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